© 00 ~N O O B W N =

—_ - -
W N = O

14
15
16
17
18
19
20
21
22
23
24
25
26

AL M F

TR EREER NEFES No. 480
T = & | FRATEHRBERERBISE
I ¥ % P AT TR HhA
T | FEr31E3[13H mi FR3143R29H FT

BIER L=98.4m
SEERIIBE  W=6.4m
T F B ¥ &ET A=287m
RE#HRT 1=
A L A A| FHBIE3A8H F#% 1 K 50 H
® ®H 5 B — RS %* & (%
T EAM R (Bitk) 3,495,000 |5 £ f] BR i # (B k) 3,120,000
EAL & (B K) 3120000% #® & # 3,369,600
* L * =Nl KXFiEE4101—5
(RKHEFFH) eI EKASH
(2 F 4 A & #| w & A=

Al—CROSSH#HA=# 3,120,000
BEZIXARSH 3,120,000 O
FTALLEEBASH 3,120,000
FHET AR 3,120,000
KAt E+REER 3,120,000
KA FEHER 3,120,000
M FEEE 3,120,000
BREHITIRTY/ 3,120,000
MHR¥X =1t 3,120,000
KXEHEZEHLK 3,120,000
RV 3,120,000
BIREHHC M EZE 3,120,000
Et=FREKRASH 3,120,000
KX=tEEHEE 3,120,000
FR=EE 3,120,000
#AsHa— 3,120,000
AR/ ER 3,120,000
N = 3,120,000
FR&st Y O—k 3,120,000
#1479/ 3,120,000
eI EKRKEH 3,120,000 <LCIZ&VUiRRE
BREHHETYVY 3,120,000
smngssrtatt 3,120,000
KX BHRE 3,120,000
A HHFHEEE 3,120,000
AmFARARSH 3,120,000

1/2




2
2
2
3
3
3
3
3
3
3
37
3
3
40

D 01w N = O © 0

© o

T A TRISHESEERIE

EETITHASH 3,120,000
AR=HEHRIE 3,120,000
AR EHTEM 3,120,000
ARSHEHEE 3,120,000
HKRASHABEE 3,120,000
BAR=AE 3,120,000
BRSHIYFEE 3,120,000
B EHKFEHE 3,120,000
BFRSH=EIR 3,120,000
BASHAZESE 3,120,000
SRR MR &4 3,120,000
AR=#Y~<aw 3,120,000
w2 EILE 3,120,000
A3 3,120,000

2/2




